Lch tablai-Mairt 280

b + 8 = 4=x6= x11= 1M =4= 4x2=

G=1= bxG= 12=6= 66+ 6= 16+2=

24+ 3= 10+2= 3=10= x11= 9xB=

3x3= 1x3= 7x9= 2x10= 12x8=

55+5= 24+12= 45+ 5= 10 = 11 = 18+9=

8x12= 5x3= 8x8= 5x 5= 12x 4=
6x5= 36+9= 10 = 8 = 8x7= 12x7=
10x9= 1x9= 8x5= 4%10 = 3x5=

6x=10-= 2x3= 8x2= 712+8= Bx12=

9x8= 4x1= 4%3= 11x8= 3x6=
99+ 11= 10 x 12 = 4%6= §+4= 28+ 4=
=32 = 4d=7T= Gx2= 63=T= B3+9=

10 =9= 6=8= T=12= 7T=10= 64 +8=

42 +7= 8=10= 15+56= T7=7= 2x6=

2=h= 6=11= 12=2= Ix9= M=12=

9=10= T=8= 2x7= 6xb= Ix2-=

9+3= T=11= 10=5= T=9= B=11=

6x6= 8xT7= 14+7= 1Mx6= 9x4=

8x6= 5x3= 28+7 = 2x7= 70+7=



Gafa le Mata Ich 112. Do as much as you can of 1+ 2




J English Version

Length - Metres and centimetres

' The metre stick
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1. Complete the grids. Use the metre sticks above to help you!
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2. Complete the grids.
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New T p. 75:A, B, C




Nature Portraits-Samples
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Young School Art




